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1
Decision/action requested

Correct the improper measurement definition about HHO per neighbour cell relation in 32.403 and 32.405.
2
References

[1]

3GPP TS 32.403 Performance measurements - UMTS and combined UMTS/GSM;
[2]

3GPP TS 32.405 Performance measurements - Universal Terrestrial Radio Access Network(UTRAN)
[3]

3GPP TS 32.642 UTRAN network resources Integration Reference Point (IRP): Network Resource Model (NRM)
Performance measurements
3
Rationale

Currently, the measurements about HHO per neighbour cell relation distinguish the ‘intra-NodeB’, ‘inter-NodeB, intra-RNC’, ‘inter-RNC via Iur’, ‘inter-RNC via CN’ HHO, and the measured object is UtranRelation. The UtranRelation is a static information, for the 'Intra-NodeB' or 'InterNodeB, intra-RNC' and other cases, only one case above (e.g. Intra-NodeB) is applicable for this UtranRelation, so it is wrong to define the measurements for all of cases on the UtranRelation which is only applicable for one case. For example, it is wrong if we define the measurements for 'InterNodeB, intra-RNC' and other cases on the UtranRelation which is the 'Intra-NodeB' one. The following picture shows a example.

[image: image1]
From above picture, it is assumed that “Utran Cell A1-1” has the neighbour relation with “Utran Cell A1-2”, “Utran Cell A2-1”, and “Utran Cell B1-1”. The “UtranRelation 1” represents the HHO relation from “Utran Cell A1-1” to “Utran Cell A1-2”; the “UtranRelation 2” represents the HHO relation from “Utran Cell A1-1” to “Utran Cell A2-1”; the “UtranRelation 3” represents the HHO relation from “Utran Cell A1-1” to “Utran Cell B1-1”.
The “UtranRelation” is a one to one relation, for “UtranRelation 1”, we can easily know that it is the “intra-NodeB” scenario. for “UtranRelation 2”, it is a “inter-NodeB, intra-RNC” scenario; for “UtranRelation 3”, it is a “inter-RNC” scenario. Currently, the HHO measurements defined for the ‘intra-NodeB’, ‘inter-NodeB, intra-RNC’, ‘inter-RNC’ scenarios are on one UtranRelation, so it is wrong. 

For “UtranRelation 1”, only the HHO measurements for “intra-NodeB” scenario is correct, the others are wrong; 
For “UtranRelation 2”, only the HHO measurements for “inter-NodeB, intra-RNC” scenario is correct, the others are wrong; 
For “UtranRelation 3”, only the HHO measurements for “inter RNC” scenario is correct, the others are wrong;
So, for the measurements, we do not need distinguish which scenario the HHO is belong to, we can just define the common measurements about the HHO, due to which scenario the HHO is belong to can be distinguished from the UtranRelation IOC, if the UtranRelation is the “intra-NodeB” scenario, then the measurements counted now is the “intra-NodeB” HHO, for other scenarios, they can be differentiated  by the same approach.
4
Detailed proposal

Change the mesurements related to HHO on the UtranRelation to be the common one, remove the individual measurements for ‘intra-NodeB’, ‘inter-NodeB, intra-RNC’, ‘inter-RNC via Iur’, ‘inter-RNC via CN’ cases. For the detail, pls see the CR S5-068366 and S5-068367.
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